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 
 

22             20112012 
 

 
 

100m g40N mK B
5x AB cm A.  

:الجزء الأول 
1ABAB 
2AB 
3AB 
4B 
5AB 

BC f:الجزء الثاني




0,1f N 
1BC 
2BC 
3 
4C50BC cm 

CRF:ثالجزء الثال
 

1D 
2 
3 

4F4mF sv R 

FM:الجزء الرابع 
1FM 
2 

3MvM

4,2h m 
41 

maxx 
 

210m sg  
 
 
 
 
 
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 
 

1 2V L1 20t C 2t

2 2,5V L 

12t 

2n2V2 1P bar 

31P bar15t C  

42t2V2P 

 3V 
.8,314 J mol KR   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

  


